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Question 1- P and Q can do 45% of a work 1n 5 days while Q alone can do the

same work 1n 20 days. In how much time P alone can do the same work.

T 1- P 37 Q Ueh 1 T 45% 9T 5 {1 H o Hehd B Salfeh Q 3Tohet SHT 1
T 20 faT O L TehdT 21 P 3okl SET s <Rl Toha= 90 T SR TehdT 27

157= 9.
Y0 A<725 days
B. 30 days
30 C. 35 days
D. 20 days

E. None of these
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Question 2- A person travel 240 km from point P to Q 1n 4 hours. In next step

from Q to P he increase his speed 100% of previous speed. Find the average
speed of whole journey.

Ueh SAfeh fsig P & Q ek 240 fohefl <l 71T 4 €12 H LT 21 Q | P o STed =0T |
€ ST T SRl TUET Tid | 100% SIGTT 81 T FET o S TTid 1 shi oy

A(,{my@ /g]eﬁd: Hw Cl@&‘éﬂ(@ A. 40 km/hr

— B. 60 km/hr
0] Hme 30/ __ _c80kmhr

D. 35 km/hr
E. None of these
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Question There are 20,000 players in a country. In which 40% plays cricket, 20%
plays volleyball and 10% plays tennis. 5% of the players play cricket and
volleyball, 3% plays volleyball and tennis and 4% plays tennis and cricket. If 2%

players plays all three games then answer the given questions.

T 337 H 20,000 RacAret €| fSw 40% fshehe Watd &, 20% Jieisie @etd & 3T
10% <fFa Werd 81 5% Raaret frohe 3R el Tad ©, 3% aidisid 3T g
CAd & 3TN 4% 4 3T fohehe Terd 81 ATE 2% RIS dHl Tt TWerd & al 16T T
57 o ST G
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Question 3- Find number of players who plays Cricket only.

T 3- Shaldl Tshohe Wl Il RAATISAT shl G&AT JTd hilSIU)

A& 6600

B. 2800
C. 1400
D. 500
30 E. None of these
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Question 4- Find the number of players who plays only Volleyball.
T3 4- Sl diciiael @aid alel RIATIST 3hl TEAT J1d hilsIT|

A. 3300

_B72800
C. 800

D. 1000
30 E. None of these

https://t.me/mathbytarunsirmepl



SBICLERK 20230

Question 5- Find number of players who plays none of the game Cricket,

Volleyball and Tennis.
T 5- Tohohe, dTefisiTer 3T ST H O hls ot Tt 981 Waad aret Raerfeat sh
AT T I A. 6000
/V B. 5000
o= O?OOOQ—IQOOQ €778000
= oo, D. 7000
30 E. None of these

—_—
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Question 6- The number of players who plays all games 1s what percent of

number of players who plays only Tennis.
T 6- T W T It RIATTSAT Shl HSAT shddl <Y Wl Tl RaeATisr sl
G 1 foheT fererd 27 A 10%

3 B. 12%
U+ T7— Hoe %:- 'g‘)d’ X|Qcp C. 15%
be{d T\\ IQOQ i} }b D. 20%

- L(OZ 30 _E—None of these
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Question 7- Find the difference between the payers who plays only Cricket

to the players who plays only Tennis.

TS 7- Shald Tshohe Wl Il RAATISAT 3T shaldl -9 @+ I RaAT ST <h

ST ohT 3L JTd shitoIg A 4600

qu (= 6600 <« B. 4400

BPHz 5C00 C. 3600

OY%, T= |oog - = _D—5600
E. None of these

30
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Question 8- Out ¢f 560 person 270 plays Hockey, 220 plays football and 160 plays
volleyball, 70 of these play hockey and foot ball, 60 play volleyball and hockey
and 40 plays football and volleyball. Also each person plays at least one of three

games. How magzplay all thee games.

T 8- 560 SATHAT H H 270 Eioh! WA &, 220 FISTT @eAd & AR 160 dTeftslicr Terd
&, TTH | 70 Treh! 3T % Sl WeAd 7, 60 Afciaiied IR Skl Terd & IR 40 Beaial
IR FTeeiel Teld &l $9eh STATAT Icdeh A <h i H ¥ &H ¥ oA Ueh @ Teldl g

ferd =TT Tl Wt Wald 2 A. 20
— B. 40

C. 60

. D—80
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In a class there are 50 students. In which 30 had taken Maths, 24 had taken Physics
and 22 had taken Chemistry, 10 had taken Maths and Chemistry, 18 had taken
Maths and Physics and 8 had taken Physics and Chemistry and 6 had taken all

three subjects. Then answer the given question.

Teh hefT § 50 Toremeff 8| e 30 3 frem, 24 3 fhioeg it 22 IRt i oft, 109
Tog R UL, 18 7 Hew 3R fhiste 31X 8 7 Tohioiae 3T hftd <t oft 37 6 3 o=t

oy forr gL fo T 9 T 3T S|

How WK
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Question 9- How many taken only chemistry.
957 9- fohd S A eharet WA TagT foram|

_

A. 5
B. 10
C. 12
D. 14
E.

None of these
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Question 10- How many taken only Physics.

T 10- Tord ST 9 shared Hifaer fagm fer=m)

e

4
8

§

A.
B.
C. 10
D.
E. None of these
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Question 11- How many taken Maths and Physics but not

Chemuistry.
97 11- Toha = forq 37T ifaeht ot <ifer @ fag =)

12
10
§

None of these

S O w >
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Question 12- How many taken none of the subjects.

T 12- Tord AT 9 ks oft foror 9 fet=m|

Mmoo >
o ol e) NN SN O

None of these
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Question 13- How many taken at least one of the three subjects.

T 13- i T § O F O & Uk fosg | foraqy 3 adiear €

. 40
. 30
. 36
. 46

. None of these

m O O W »
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| Question 14- 45 X 45 X 45 + 135 X 1%5 =3 X3 X?
ey et

ks | 3= U5 M5+ 9]

X= Haxdeyan
¥
*—Zl@;{sﬂ 30
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&,
Question 15- 056% of 1200 — 82% of 4000 =? — 32% of 1800
1200 kT 56% — 4000 kT 82% = ? - 1800 <hT 32%

A=6FT9-3200+51¢
A. 1032

I = —Ve 'B. 2032
I C. 1132
D. 2232

30 “E-” None of these
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Question 16- 24 x V1024 + 25 x 961 = ?

@ @
L= HX3Q+35K 3|
2 - 168+ 115
} — ‘gLH A. 1133
\& - B. 1123
C. 1113
30 D. 1143
tE=None of these
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Question 17- P can do a piece of work 1n 12 days and Q can do the same

work 1n 15 day. They start the work one day each on alternatively. In how
much time 60% of the work will be completed.
I 17-PUH M I 12 feai 0 s T @ 3R Q SH s &l 15 el
el 81 o deh{cdeh ¥ § Uh-Tsh [a sh1H Y& ld g Tohd €8T H 60% Tl i
U fehaT STTar? A. 26

B. 16

C. 13

D. 36

__ E—None of these

30
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Question 18- A certain sum of money becomes double of itself in 4 years.

Find the compound interest on a sum of Rs 10,000 with same rate for 3

years.

ST 18- Tk T geTIiRT 4 ST H 379 3179 SACT 81 STt 81 10,000 €9 A7 AR
T 3 991 oh [oTC U X =shdls, sATST 1 hifsi|

Rs 5000
Rs 4500
Rs 5625
RERRIN

None of these

30

m o 0w
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